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/* for test.c OB EREER( OAVNERE ) >/
#include<stdio.h>
INt main()

int n; /* REMR% */
int i: /* J)L—JAho A% */

printf("R1EEIZZE A DL TTEL¥N");
scanf("%d", &n);
for(i=0; i<n; i++)

1
}

return O;

printf(" 18 %d[E B ¥n", i);
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#define M 10 /*5MEID 18 [B1#7+/
#define N 10 />N R 1ERI#*/

int i; /*MAIDIL—TDhDE*/
int j; /*REIQIL—TDho 2>/

for(i=0; i<M; i++)

{
/> SMAIDJL—T */
for(j=0; j<N; j++)
{
/> REIDJIL—T */
}
}
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for(zXA1; &H#HA; XA2)
{
for(¥B1; &4B;XB2)
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( break; )
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#include<stdio.h>

INt main()

{
int i; /* SMADIL—THD >/
int j; />~ REIQIL—Tho32*/

printf(" Lz (F77=17) T/IR¥N");

/> Rz */

/*%Z&E)L—TEEE multi_loop.c OAVNERE >/
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for(i=1; i<10; i++)
{
printf("%1dDEL:", i);
for(j=1; j<10; j++)
{
printf("%1d*%1d = %2d ", i, }, I*]);
if(i==j)
{

by
by
printf(""¥n");
by

return O;

break;
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/
/

*/
Vi3

FEBINERTIHTOT I L

ER B : yyyy/mm/dd

ERE  ANTEKER

P EEFS :BOOBOXX

Y—RX 71 )L:sequence.c

E{T774 )L :sequence

iRBA: #)IEa, NEJDFEEHI%F
FENEFEFTRRISHTIOT S L,
=L, #1IBXFEOBETHHIEEZ D,

AR FllHa, NED. RREOBESNZZDIEIC
ZEANDIBANT B,
FIEHENEIFTEEDEL.
RIRBEOESIIEDEHLET S,

HAOZBEBDIZHIDKIEDEZH HT S,
HINDEZEDEIIEHRTHD,

15

RDR—I28E >/




/> fE xS

#include <stdio.h>

INt main()

{ /> ZHES */
double seq; /> BHDEIE */
double first; /> I8 */
double difference; /* NE */
int n; /> T >/
int  i; /= IL—Thoo3 */
/*WIED A A*/

/*

printf(“#1IHaDfEZ A LTI, ¥n");
printf(*a= ?¥n");

scanf("%lf", &first);

ROAR—D(2f >/




/*

/*

frx >/

/* REDAN */
printf(“2XZZ AL TTFELY, ¥n"™);
printf(“d= ?¥n");

scanf("%lf", &difference);

/* THEDAA */
printf(“IE&Z A WL TTELY, ¥n”);
printf(“n=7¥n");
scanf(“%d”,&n);

/* ARNT—E3DFvy */

If (n<=0){
/* BRIEGEA N TEEMAOLLT */
printf (“IEHIIIEDEH TE Z TZSLI¥N);
return -1;

s
RDR—I|2E7E >/




/* fE >/
/* BN DEF LS F>/
/*WEARE (FIR) */
seqg=first;
printf(*a%2d: %6.3f¥n”, 0, seq);

/*#EY R UALIE>/
for(i=0;i<n;i++)

1

seg=seg+difference;
printf(“a%2d: %6.3f¥n”, i+1, seq);
by

return O;
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$make
gcc sequence.c -0 sequence
$ ./sequence

FEEZAALTTFSL
a= ?

-7
NEZTAALTTSILY
d= ?

3
IHHZ A AL TT S0
n= ?

2

a0: -7.000

al: -4.000

a2: -1.000

$
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$./sequence
MEZXAHNLTTELY
a= ?

-7
NEZAHNLTTSL
d=?

3
BEHZAALTTFSL
n= "7

-2
HBMFEDEHTEZ T =W
$
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